50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN

St

(06 Marks)

Explain the working of photodlodesé 5 (05 Marks)
Wlth a neat c1rcu1t diagram and, waveforms, explain theﬁfworkmg of full wave bridge
s, values for full wave rectifier/” (09 Marks)

L

&
4

OR 2

N f/‘
rom centre to each end is“ BV Find I, L4, Irms and V. if the load is

(06 Marks)

Explain the functig Y(nal block diagram of 78% serles voltage regulator. (06 Marks)

Explain how %@nér diode can be used 1 voltage regulator. Give detail mathematical

analysis. ) % (08 Marks)
ﬂoM

(06 Marks)

= =3V and Vg at

Ip = 3mA (05 Marks)

Explain the construction;w orkmg and characterlstics of N- channel JFET. (09 Marks)
i & V. %‘%ﬁw

Explain the w rkmg of SCR using twt txanmstor model. (06 Marks)

What is commutation in SCR? Expla)@l two types of commutatlon (05 Marks)

Explain the construction, working and characterlstlcs mf enhancement type MOSFET.
) ‘ (09 Marks)
AWht is Op — AMP? List (06 Marks)

"*»’Explam how Op — Amp can be used as 1) Jht,egrator ii) Voltage Follower. (08 Marks)
iF ind the output of: fh @p Amp circuit, shown in Fig Q5(c) below

—Ne.C

|

o
-—
-

Fig Q5(c) (06 Marks)

1 of 2




10

/

G

18ELN14/24

OR
Explain the following terms with respect to Op — Amp

i) CMRR ii) Slew Rate iii) Output offset Voltgé ’iv) Supply voltage Rejection Ratio.

(08 Marks)

Design on Op — Amp circuit to obtain output expmssnon as Vo=—[V1 +3V2+5V3].
@ o s (06 Marks)
Explain how Op — Amp can be used as differertiator. ; (06 Marks)

(06 Marks)

(06 Marks) . ‘

g&nd waveforms, explam the working of 555 timers as an
(08 Marks)

é

With a neat circuit dlagram
oscillator.

n 4 OR y A
Draw the block dlagram of voltage serles negatlve feedback amplifier and derive the I ‘
expression for its.voltage gain. ‘ (06 Marks)
Design a E;C phase shift oscillator for a“ﬁequency of 1KHz. Draw the circuit diagram with
designedy values. (06 Marks)
With a/heat”cucmt diagram, ex;;/laf the working of Wem Brldge oscillator. (08 Marks)

Module-i )

Perform the following s~ _ ™
i) Convert (925. 75);910 base — 2 and base - 16
ii) Subtract from(l 1011.11); from (10101 ll) » using 2’s.compliment method. (06 Marks)
With a block d1ag;am explain the workmg of 3-bit asynchronous counter. (06 Marks)
i (08 Marks) .

(05 Marks) J
(06 Marks)
(04 Marks)
(05 Marks)




